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[Base=FH|, N=1,013, EF|: %]

T+ = otLI2

A 1,013 62.1 37.9
el =5 541 66.4 33.6
°= ol 472 57.2 428
200H| 105 64.8 352
e 30CH| 269 57.6 424
= 400H| 329 66.3 337
50CH Ol&H 310 60.6 394
K| 947 63.7 363
x| 52 423 57.7

HE=SEY JISAH 4 0.0 100.0
RS 6 66.7 333

JIEHE T S)| 7 4 0.0 100.0
sHMEl 162 51.9 48.1
== STk dgl 20 70.0 300
JF=1 AsH 825 64.1 359
JIEHEE 5) 6 333 66.7
100 0/ 63 50.8 492
100~199| 85 624 376
2 R ALEH 200~299| 167 53.9 46.1
300~399| 261 60.2 39.8
400 O]Af 437 68.0 320

o A 629| 784 | 343 11.9 4.1 3.8 2.5 2.2 1.9 1.3 0.6
A =24 359 80.5| 27.6| 123 3.3 3.9 2.2 1.1 1.1 0.0 0.6
od 270 75.6| 43.3] 11.5 5.2 3.7 3.0 3.7 3.0 3.0 07
200H| 68 85.3] 35.3 8.8 5.9 5.9 0.0 2.9 2.9 0.0 0.0
o o4 30CH| 155 73.5| 46.5| 12.3| 10.3 7.7 5.2 6.5 5.2 3.9 00
- c 400H| 218 78.4] 34.4] 10.1| 09 1.8 2.8/ 09 0.0 09 1.8
50CH Ol&t| 188 79.8] 23.9] 14.9 2.1 2.1 1.1 0.0 1.1 0.0 0.0
At 603 79.11 33.8] 124 4.3 3.6 2.7 2.3 2.0 1.3] 07
HE=<SH A 22 54.5| 54.5 0.0 0.0 9.1 0.0 0.0 0.0 0.0 0.0
AHE 4 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SAH4E 84 75.01 44.0 0.0 2.4 2.4 0.0 0.0 0.0 0.0] 24
== 2 ME| 14 100.0f 42.9 0.0 0.0] 143 0.0 0.0 0.0 0.0 0.0
JIE1 M8 529 78.3| 32.7] 14.2 4.5 3.8 3.0 2.6 2.3 1.5 04
JIEHEH S) 2 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100 OIgH 32 87.5| 25.0 12.5] 125 125 6.3] 12.5| 125 6.3 6.3
100~199| 53 83.0 35.8| 18.9 7.5 3.8 0.0 0.0 0.0 0.0 0.0
ZHI&HEH 200~299( 90 80.0 30.0 8.9 2.2 2.2 2.2 2.2 4.4 2.2 0.0
300~399( 157 70.1] 46.5 10.2 6.4 3.8 2.5 2.5 1.3 2.5 0.0
400 0|4 297 80.5 30.0 12.5 2.0 34 2.7 13 0.7 0.0 0.7

Z5) ¢if HS=S YIoHX| Y= olR




M A 151| 444 | 146 11.3 93 86 53 2.6 2.6 13

e =244 84 429 14.3 7.1 14.3 7.1 48 2.4 48 2.4
c= oy 67 46.3 14.9 16.4 3.0 10.4 6.0 30 0.0 0.0
200h| 16 375 12.5 12.5 12.5 12.5 0.0 12.5 0.0 0.0

- 300h| 42 38.1 238 11.9 48 7.1 48 438 48 0.0
=e 4004 46 50.0 17.4 13.0 43 43 10.9 0.0 0.0 0.0
50CH Ol &t 47 46.8 43 8.5 17.0 12.8 2.1 0.0 43 43

Xted| 129 | 473 12.4 10.1 7.8 10.1 6.2 16 3.1 16

x| 16 375 12.5 25.0 125 0.0 0.0 12.5 0.0 0.0

HZ=S Bl JI=AH 2 0.0 0.0 0.0 1000 | 0.0 0.0 0.0 0.0 0.0
SE-FS 0.0 1000 | 0.0 0.0 0.0 0.0 0.0 0.0 0.0

JIEHEIRE S)| 2 0.0 1000 | 0.0 0.0 0.0 0.0 0.0 0.0 0.0

STAE| 37 35.1 16.2 108 | 216 5.4 5.4 54 0.0 0.0

ot dpet Mg 2 0.0 0.0 0.0 0.0 1000 | 00 0.0 0.0 0.0
== JFED ME| 110 | 49.1 12.7 11.8 5.5 8.2 55 1.8 36 1.8
JIEHER S)| 2 0.0 1000 | 0.0 0.0 0.0 0.0 0.0 0.0 0.0

100 OI2H 11 36.4 18.2 18.2 0.0 0.0 9.1 0.0 18.2 0.0

100~199| 23 435 0.0 43 174 8.7 0.0 17.4 0.0 8.7

2 Ml AHEH 200~299| 36 417 16.7 0.0 222 56 13.9 0.0 0.0 0.0
300~399| 43 512 93 20.9 47 14.0 0.0 0.0 0.0 0.0

400 O 38 421 26.3 13.2 0.0 7.9 53 0.0 5.3 0.0

[Base=2{AY| Bl ES=2 L SIX| = SHAL N=384, Bl %]

__I.I.
H A 384 16.7 20.1 29.4 284 55 2.86
My =) 182 13.7 26.4 29.1 247 6.0 2.83
o 202 19.3 14.4 29.7 317 5.0 2.89
200H| 37 16.2 16.2 10.8 51.4 5.4 3.14
ot 24 30CH| 114 16.7 12.3 28.1 342 8.8 3.06
4000|111 18.9 306 243 243 18 2.59
50CH ol&aH 122 14.8 18.9 41.0 19.7 5.7 2.83
eS| 344 16.3 20.6 28.8 29.4 49 2.86
X[ 30 20.0 133 333 20.0 133 2.93
HE=SEY JI=AH 4 0.0 50.0 50.0 0.0 0.0 2.50
FIE=FS] ) 0.0 0.0 100.0 0.0 0.0 3.00
JIEHERE 5)| 4 50.0 0.0 0.0 50.0 0.0 2.50
SXHE 78 19.2 20.5 26.9 244 9.0 2.83
== ZRQ M| 6 333 333 333 0.0 0.0 2.00
b= ME 296 15.9 19.9 29.7 304 41 2.87
JIEHEH 5)| 4 0.0 0.0 50.0 0.0 50.0 4.00
100 OI8H 31 19.4 6.5 419 19.4 12.9 3.00
100~199| 32 9.4 12.5 34.4 40.6 3.1 3.16
2 R AHEN 200~299| 77 16.9 234 35.1 19.5 5.2 273
300~399 104 20.2 26.9 23.1 26.0 3.8 2.66
400 O & 140 15.0 17.9 27.1 343 5.7 2.98

7) S E ¥ A T 2 EF HIE
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H oA 629 15.6 38.8 27.8 17.2 0.6
o o 359 16.2 37.0 29.8 15.9 11
= oA 270 14.8 411 252 18.9 00
ooch| 68 176 353 29.4 17.6 00
orzy 30CH| 155 10.3 355 28.4 25.8 00
=< 4004 218 17.4 344 29.8 183 0.0
50CH ol& 188 17.0 479 24.5 8.5 2.1
xted| 603 15.9 38.1 28.4 16.9 07
HE=SE) x| 22 0.0 63.6 9.1 273 00
SEES ! 50.0 0.0 50.0 0.0 00
S EIY 119 44.0 238 17.9 24
R zop M 14 0.0 143 286 57.1 0.0
b= M| 529 16.6 38.8 282 16.1 0.4
JEHRIE S)| 2 0.0 0.0 100.0 0.0 00
100 oot 32 25.0 56.3 6.3 12.5 00
100~199| 53 17.0 37.7 226 226 00
2 I A EN 200~299| 90 15.6 322 26.7 21.1 44
300~399| 157 185 35.7 31.8 140 00
400 O| & 297 12.8 407 293 17.2 00
=8) S E YIH 2 MEXE =
[H 6] Ht{s= YFH 8 MEXE &=

SS'H3H|
MEl% | A27Y ] bt
F715¢e

H| &X| &)
o A 629 94.6 75.8 56.0 431 10.5 7.6 3.5 22
My =2 359 95.5 76.6 49.6 454 12.8 10.0 2.2 2.2
o 270 933 74.8 64.4 40.0 74 44 5.2 2.2
200H| 68 94.1 76.5 58.8 26.5 20.6 147 2.9 0.0
- 30CH| 155 93.5 72.9 54.2 445 12.9 6.5 2.6 2.6
-° 40CH| 218 91.7 79.4 56.0 445 10.1 6.4 5.5 0.9
50CH Ol&f| 188 98.9 739 56.4 463 5.3 74 2.1 43
Xted| 603 944 75.8 55.4 430 10.9 76 36 23
A EN | 22 100.0 81.8 72.7 364 0.0 9.1 0.0 0.0
ARE 4 100.0 50.0 50.0 100.0 0.0 0.0 0.0 0.0
SXtME| 84 95.2 833 57.1 38.1 11.9 11.9 0.0 0.0
e P ME| 14 85.7 28.6 57.1 28.6 28.6 28.6 429 0.0
JIE1 ME| 529 94.7 76.2 55.6 440 9.8 6.4 3.0 2.6
JIEHEHE 5)| 2 100.0 0.0 100.0 100.0 0.0 0.0 0.0 0.0
100 0I9H 32 87.5 81.3 43.8 375 375 125 0.0 0.0
100~199| 53 100.0 69.8 56.6 472 75 15.1 38 0.0
2 Xl AL EH 200~299| 90 97.8 67.8 62.2 456 89 2.2 44 2.2
300~399| 157 87.3 75.2 58.0 36.3 14.0 127 76 13
400 O| A 297 97.3 79.1 54.2 458 6.7 47 13 34




Mo
©
r
I
ofn
Mo
A
Hu
o
Ral
M
o
ot
2
> -||I

[Base=ttZia =22 &] SO0|AHL ZEO| A= SEAL N=862, CHel: %]
7B | Al of | oL
H A 862 78.5 215
M = 457 79.0 21.0
o 405 78.0 22.0
20CH| 89 84.3 15.7
of 24 300H| 227 80.2 19.8
40CH| 283 85.2 14.8
50CH Ol&f| 263 68.1 31.9
Xted| 818 786 214
x| 36 88.9 11.1
HEEEY JISAH 2 0.0 100.0
AME| 4 50.0 50.0
JIEHERE 5)| 2 0.0 100.0
SXAs| 125 776 224
o= 27 e AOH% 18 88.9 11.1
JbE ME| 715 78.3 21.7
JIEHEIH S)| 4 100.0 0.0
100 DI2H 52 615 385
100~199| 62 935 6.5
R AEN 200~299| 131 67.9 32.1
300~399| 218 77.1 22.9
400 O|& 399 827 173

29-Ni = TURH 82 HHEYT

L R sgolct | BEst
M A 677 24 8.1 15.1 49.0 25.4 213
A =4 361 44 75 17.5 429 277 218
o 316 0.0 8.9 12.3 56.0 22.8 2.07
20CH| 75 5.3 10.7 187 52.0 133 243
_— 300H| 182 1.1 929 11.5 54.4 23.1 2.12
- c 40CH| 241 0.8 79 187 498 22.8 2.14
50CH Ol&| 179 45 5.6 123 413 36.3 2.0
Xied| 643 2.2 8.6 14.9 485 25.8 213
HE=EE x| 32 6.3 0.0 18.8 56.3 18.8 2.19
EE 2 0.0 0.0 0.0 100.0 0.0 2.00
SXtE 97 4.1 2.1 14.4 51.5 27.8 2.03
== X2 ME| 16 0.0 375 25.0 375 0.0 3.00
JIED ME| 560 2.1 8.4 14.6 489 25.9 2.12
JEHRH S)| 4 0.0 0.0 50.0 50.0 0.0 2.50
100 0I2H 32 6.3 18.8 18.8 25.0 313 244
100~199| 58 0.0 17.2 8.6 36.2 379 2.05
2 M ALER 200~299| 89 0.0 6.7 18.0 57.3 18.0 213
300~399| 168 2.4 8.9 14.9 50.6 23.2 217
400 Of A 330 3.0 5.5 15.2 50.6 25.8 2.09
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[Base=HHEE2 YT FO0|AL} ZH0| A= SEAL N=860, TH2l: %]

Y MEs ol | e

| 860 59.4 40.6

My = 455 58.0 42.0
o 405 61.0 39.0

200H| 89 60.7 393

o124 300H| 225 63.1 36.9
40CH| 283 61.1 389

50CH Ol& 263 54.0 46.0

Xted| 816 59.7 403

XE| 36 61.1 389

ES=TE JI=AH 2 0.0 100.0
AHE| 4 50.0 50.0

JIEHERE )| 2 0.0 100.0

SXaE 125 63.2 36.8

=i E Do *OH% 16 875 125
= ME| 715 57.9 42.1

JEHEH S)| 4 100.0 0.0

100 0/8H 52 57.7 423

100~199| 60 66.7 333

2 Xl A 200~299| 131 527 473
300~399| 218 61.0 39.0

400 0|4 399 59.9 40.1

£10-1) &= 0|8H|E HEE

ot 20| A= SEAL N=509, EHl: %]

ME% | gt | Mmelt | msoit | mee | ME
SRE] 509 3. 134 285 432 118 253
e H 264 45 136 26.9 428 12.1 256
= oA 245 16 13.1 30.2 437 114 2.50
ooth| 52 7.7 154 462 30.8 0.0 3.00
o2 300H| 142 14 16.9 21.8 50.0 9.9 2.50
=< 4008 173 35 9.2 37.0 416 8.7 257
50CH OlAH 142 2.8 14.1 183 430 218 233
Xte| 485 2.9 132 28.7 429 124 251
H =5 e x| 22 9.1 18.2 273 455 0.0 291
A=zE 2 0.0 0.0 0.0 100.0 0.0 2.00
sxgazl 79 7.6 5.1 24.1 54.4 8.9 248
N zpoh M 14 0.0 429 429 143 0.0 3.29
b= Mz 412 19 14.1 29.1 420 12.9 2.50
JEHEE 5)| 4 50.0 0.0 0.0 50.0 0.0 3.50
100 0184 30 133 133 26.7 333 133 2.80
100~199| 40 0.0 15.0 25.0 375 225 233
2 I A Ef 200~299| 67 30 14.9 313 38.8 119 2.58
300~399| 133 30 16.5 30.8 406 9.0 264
400 O|&f 239 2.5 10.9 27.2 48.1 11.3 245




L | 862 14.6 9.7 75.6
A =K 457 14.2 114 744
o 405 15.1 7.9 77.0
20CH| 89 13.5 15.7 70.8
ol 24 30CH| 227 22.9 9.7 67.4
40CH| 283 14.1 10.2 75.6
50CH Ol&| 263 8.4 7.2 84.4
Xie4| 818 14.9 10.0 75.1
x| 36 11.1 5.6 83.3
HFSEN JISAH 2 0.0 0.0 100.0
ARZE 4 0.0 0.0 100.0
JIEHERE S)| 2 0.0 0.0 100.0
SXtAE| 125 20.0 3.2 76.8
At M 18 11.1 444 444

SHIE =
JbE ME| 715 13.6 10.1 76.4
JEHRHE 8)| 4 50.0 0.0 50.0
100 0/gH 52 19.2 115 69.2
100~199| 62 19.4 145 66.1
2 HIALER 200~299| 131 29 13.7 76.3
300~399| 218 19.3 6.4 743
400 Of A 399 123 93 784

=11-1) B SESEES 7Y oSIX| %2 o|f
(B 12] HHHsE2EEE 71K &2 O|F

CERTE

= - HER7 a4zt o =
“ets | BedE | S50t P
H N 652 265 23.8 9.0 1.2 1.8 37.6
. =4 340 29.1 20.0 9.7 1.8 0.6 38.8
c= oj 4 312 237 27.9 8.3 0.6 3.2 36.2
200H| 63 19.0 6.3 222 3.2 0.0 492
—_ 30CH| 153 16.3 28.1 9.2 13 13 43.8
= 4000 214 308 28.0 6.5 0.9 19 318
5000 Ol A 222 315 21.6 7.7 0.9 2.7 356
NEIGE 27.9 236 93 13 16 36.3
=30 6.7 26.7 6.7 0.0 0.0 60.0
HE=SEY JI=A 2 0.0 0.0 0.0 0.0 0.0 100.0
HEE 4 0.0 50.0 0.0 0.0 0.0 50.0
JIEHRTE )| 2 0.0 0.0 0.0 0.0 100.0 0.0
SR 96 12.5 354 10.4 0.0 2.1 396
== Zipor M| g 25.0 0.0 25.0 0.0 0.0 50.0
== JE1 MEH 546 29.1 218 8.6 15 1.8 372
JIEHEHE S)| 2 0.0 100.0 0.0 0.0 0.0 0.0
100 DI2H 36 222 16.7 16.7 0.0 11.1 333
100~199( 41 19.5 34.1 19.5 49 0.0 220
2 Ml AER 200~299| 100 20.0 33.0 0.0 40 0.0 43.0
300~399| 162 296 247 93 0.0 2.5 340
400 Of A 313 284 19.8 96 0.6 13 403
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Base=TH|, N=1,013, Et%|: %]

[

HiHESE YIS S =
e HIETRE
f7182 | Ao
X7 | MEDX | e | oparcp | 7a o
E_Eil_ E:I'CTI)_Al 2|'|'I 0"0 Hﬂ :I-I:l’:
Hg
priel}
H A 1,013 61.3 | 49.1 | 405 | 373 | 353 | 268 | 26.8 | 128 7.3 0.4
A =4 541 59.3 | 488 | 392 | 410 | 32.0 | 275 | 275 | 124 9.8 04
c= o] d 472 636 | 494 | 419 | 331 | 392 | 258 | 258 | 133 44 04
20CH| 105 467 | 533 | 543 | 362 | 400 | 286 | 200 | 152 5.7 0.0
. 30CH| 269 58.4 | 472 | 409 | 338 | 372 | 320 | 253 | 16.0 33 0.0
=< 40CH| 329 653 | 514 | 374 | 365 | 368 | 243 | 286 9.4 8.8 0.0
5008 Ol4H 310 645 | 468 | 387 | 416 | 306 | 242 | 284 | 129 9.7 13
XHEH| 947 616 | 497 | 395 | 384 | 340 | 261 | 278 | 125 74 04
AE| 52 577 | 346 | 500 | 269 | 538 | 385 | 154 | 23.1 0.0 0.0
HE=SH JI=SAH 4 50.0 | 50.0 | 1000 | 0.0 50.0 0.0 0.0 0.0 50.0 0.0
AT 6 66.7 | 100.0 | 33.3 0.0 333 | 333 0.0 0.0 333 0.0
JIEHERE )| 4 50.0 00 | 1000 | 0.0 | 100.0 | 50.0 0.0 0.0 0.0 0.0
STHME 162 611 | 451 | 414 | 346 | 377 | 253 | 265 | 167 6.8 1.2
== ZlRQL MEH 20 200 | 100 | 400 | 600 | 500 | 40.0 | 30.0 | 30.0 | 200 0.0
- =1 M= 825 625 | 504 | 401 | 373 | 345 | 267 | 269 | 11.8 7.2 0.2
JIEHRE S)| 6 33.3 | 100.0 | 66.7 | 333 | 333 | 333 0.0 0.0 0.0 0.0
100 0/8H 63 540 | 524 | 413 | 270 | 254 | 444 | 286 | 159 7.9 0.0
100~199| 85 459 | 565 | 388 | 424 | 259 | 341 | 259 | 129 | 118 24
2 Ml AEH 200~299| 167 623 | 407 | 467 | 389 | 425 | 216 | 222 | 192 48 0.0
300~399| 261 55.6 | 425 | 387 | 464 | 391 | 299 | 29.1 9.2 6.5 0.0
400 O 437 684 | 542 | 394 | 318 | 336 | 229 | 270 | 121 7.8 0.5
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